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BERER/NZ D . B—/\i82Z DIBL is known to be worsen in narrow channel MOSFETs.
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DIBL is more prominent in short-channel devices.

Narrow channel means W is very small, not L.
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BT —K - EEHTHEBHEIBHER - £—dpoing level 10M5 B9 p-Sith - MR RE 500K = F 3|

600K - BB1EZmajorityfholei EBIZIH) EAH(BAR A REMIMEE RS - M EEAEELEEIZUEIM1 ->
1.1 - Frl 3 #EEB) - AB4R#ENn0 = ni*2/p0 (dpoing level 10715 -> nondegenerated) - pOMIR EF - BBEHEn0 R 2 EZ
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n For a piece of p-type silicon with doping level of 1015 c:rn‘3= which is correct when temperature increase from 500 to 600K?
A. electron density increases drastically
B. hole density is almost independent of temperature

C. resistivity remain almost constant
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Question: pOIR =7 - BBEZRN0A B EZR /D 1E?
Answer: no, becasue ni increases a lot with deperation, both n0 and pO in high temp range approximately equal
ni, therefore increase drastically.
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Yes, sorry, | think | make a mistake here. You are right, that is optional is "incorrect".
The correct answer should be Ef<Ev.

We will count both optional correct.
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¥4, there was a mistake in writing. | will correct it.
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ZENRYF - 28BREZENFEIE S K LiE P 12ZIA0density of statefI/A TV IEE N EIHAM RO 5 B2 B PR R IFIERBE
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OK, [ will try to have the scan file uploaded by the weekend
Remind me if you did not see it still next week.
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| have just loaded the materail on DOS derivation.
Please check the class material section.
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